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http://mthamilton.ucolick.org/techdocs/standards/standards_intro.html
12 10 18 00 20 00

1. ( a) 21 0h8m23.3s +29° 526"
2. ( v) 2.5 0h56m42.5s +60° 43'0"
3.2
CCD
- deneb01.FTS deneb07.FTS 3.1

N[ADU] [ Sky[ADU] | Peak[ADU] [ t[s] | F[mm]
deneb01 | 5.742 x 1067 2839 65345 | 1.0 ?
deneb02 605105 1454 10497 | 0.2 7
deneb03 1.354 x 10° 1856 29590 | 0.2 6
deneb04 1.216 x 10° 1580 19525 | 0.2 5
deneb05 1.243 x 10° 1612 10863 | 0.2 5
deneb06 442299 1612 10863 | 0.2 5
deneb07 1.273 x 10° 1735 28449 | 0.2 4
3.1:
N Sky Peak t
F CCD
deneb06
3.3 2
CCD
( s)

CCD



deneb01.FTS deneb09.FTS

3.2

N[ADU] | Sky[ADU] | Peak[ADU] t[s] | Flmm]
deneb01 | 1.550 x 10° 1571 20840 0.2 4
deneb02 860177 1554 15196 0.1 4
deneb03 611918 1469 12516 0.05 4
deneb04 513725 1502 14832 0.05 4
deneb05 577646 1461 9339 | 0.025 4
deneb06 677401 1510 7878 0.05 4
deneb07 269162 1304 4325 0.05 3
deneb08 301169 1295 2256 0.05 2
deneb09 274331 1318 50568 0.05 5
3.2: 2
3.4
4
4.1
sftp vw
login deneb01.FTS deneb07.FTS( 041210)  deneb01.FTS

deneb09.FTS(

041217)

scp ’vw:data/041210/*.FTS’

mv deneb**.FTS deneb**.fits

.FTS fits

CCD
32768

FITS

-32768

signed short

cl>chpixtype deneb**.fits deneb**.fits ushort
unsigned short

4.2

mkiraf

ds9

IRAF



cl
IRAF
cl>display deneb**.fits
ds9

cl>imarith deneb**.fits - bias0001.fits deneb**.fits
cl>imarith deneb**.fits - dark0001.fits deneb**.fits

cl>imarith deneb**.fits / flat.fits deneb**.fits

cl>imexam
a (FWHM
)
N Sky Peak 3.1 3.2
4.3
Si http://www.alcyone.de/SIT/bsc/bsc.html
v 1.25  V-band 0 Fo = 3.64 x 10™8[W/m?/pm]
(1.6)
Fy =115 x 10" 8[W/m” /pum] (4.1)
(1.1) D=0.3[m] 2.1 AX=0.15[pm] X = 0.55[pm]
5; ~ 3.38 x 10°[e7] (4.2)
31 3.2 ADU (1.2) e n;
Nsky foonu=3.8(¢~ /ADU)
n;g S; (1.3) n 4.1 4.2
N[ADU] | t[s] | n[%]
deneb01 5.742 x 10° | 1.0 6.5
deneb02 605105 | 0.2 | 3.4
deneb03 1.354 x 10° | 0.2 7.6
deneb04 1.216 x 10° | 0.2 6.9
deneb05 1.243 x 10° | 0.2 7.0
deneb06 442299 | 0.2 2.5
deneb07 1.273 x 10% | 0.2 7.2
4.1: ( )
N[ADU] t[s] | nl%]
deneb01 1.550 x 10° 0.2 8.7
deneb02 860177 0.1 9.7
deneb03 611918 | 0.05 | 13.8
deneb04 513725 | 0.05 | 11.6
deneb05 577646 | 0.025 | 26.1
deneb06 677401 | 0.05 | 15.3
deneb07 269162 | 0.05 6.1
deneb08 301169 | 0.05 6.8
deneb09 274331 | 0.05 6.2
4.2: ( )



4.4

12 10 17 18 00 20 00

Nsky 3.1 3.2 1.2 Ndark  Nread 2.1 Ndork=0.0046[e™ /sec/pix]
NTeadzlo[e_]
m imexam FWHM
30cm 0L
A
bpr = 123 (4.3)
-6
_ 1.220.55 x 10
0.3
= 223 x 10" °[rad] = 0.46" (4.4)
2// 2// X 2//
CCD 2.1 CCD 0.99"/pix

m 2 +0.99 ~2 [pix]
n (1.4) S/N=5
Si

_ 25mt+ V/(25nt)2 + 10022 (mnakyt + Mndart + mNZ, ;)

s e (4.5)
11)  (16) M 43 44
i [ sl 1 [ B0 W] [ M ]
deneb01 6.5 11545.34 3.935E-13 12.42
deneb02 3.4 79851.00 2.722E-12 10.32
deneb03 7.6 40175.05 1.369E-12 11.06
deneb04 6.9 40948.59 1.396 11.04
deneb05 7.0 40754.63 1.389 11.05
deneb06 2.5 | 114112.96 3.889 9.93
deneb07 7.2 41050.31 1.399 11.04

4.3: ( )
nl%] sife”] | F[x10~PW/m?/pm] | M[ ]
deneb01 8.7 32387.41 1.104 11.29
deneb02 9.7 57794.07 1.970 10.67
deneb03 13.8 79082.07 2.696 10.33
deneb04 11.6 95088.65 3.241 10.13
deneb05 26.1 83408.26 2.843 10.26
deneb06 15.3 72277.42 2.464 10.42
deneb07 6.1 | 168986.17 5.760 9.50
deneb08 6.8 | 151089.66 5.150 9.62
deneb09 6.2 | 167111.46 5.696 9.51
4.4: ( )

5.1 CCD
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